! é o J phép trir phan s6 (phén s6 thich hop) (phan s6 khong
=T ding)

Tén: Ngay thang: Piém:
7.6 _ 5_3_
5 9 2 5
3 1_ 1 1_
2 7 3 6
32 _ 2_2_
6 8 3 9
5 3 11
2 4 305
2 1 301
7 4 7 8
7 1 7 1
4 4 5 3
3 3_ 7_1_
5 7 2 2
6 3_ T_4_
4 5 8 7
2 1. 7_1_
8 8 4 7
S T_1_
6 7 6 9
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! @ 0 j‘ phép trir phan s6 (phan s6 thich hop) (phan s6 khong
A ding)

Tén: Ngay thang: Piém:
7.6_11 5.3_19_ 9
5 9 15 2 5 1 10
3_1_19_15 11 1

2 7 14 14 3 6 6

3 2 1 2 2 4

6 8 4 3 9 9
;_3_7_ﬁ 1 1 2

2 4 4 4 3 5 15

2 1 1 3.1 17

7 4 28 7 8 56
7_1_3_,1 r_1_16_ .1
4 4 2 2 5 3 15 15
3.3_6 7_1_,

5 7 35 2 2
6_3_9 7 4_17

4 5 10 8 7 56

2 1 1 7 1 45 17
8§ 8 8 4 7 28 28
5 5 5 7_1_19_11
6 7 42 6 9 18 18
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